PISCO.

http://www. PiSCO.CO.jp/

@'b—hu“ﬁl}‘ H-H\JL. (OP:] [CAD)

- 10} mmuvov

j |

‘t\ —

v 1 ©
-

ﬂﬂﬂ.

PCC3-M6M® 3 M6X0.75 3 4 | 1 109 | 2 8 | 98 | 78 | 29 | 2.7 [PCC3MBN(C)
PCC4-MBM@ M6X0.75 3 ‘ 109} 25 | 8 ‘ | } 51 | 26 {PCCﬁl-MGM[C]
PCC4-M8M@ M8X0.75 3.4 : 3 | 10 = [ 23 | 49 [pccs-mam
PCC6-M8M@| 6  MBX0.75 3.4 148| 17| 4 10 | 118 | 98 | 128 | 3.6 |PCCE-MBM
PCCIBNMEM® | 1/8 ‘ M6x075 3 | 14 | 1 ‘ 109 2 [ 8 | o8 { 78 [ 3 [ 27 [nripuue

B > IE

o

B D:1.8 D: 2

’“
L
e

F1-74E JR| 3
-IIIII
PCF180-M3M@ M3X05 4 13.9 5 8.4 5 48 = 0.9 1.4 | PCF180-M3M
PCF2-M3M® 2 M3X05 4 | 139 5 84 | 5 | 48 = 0.9 \ 1.4 |PCF2—M3M
PCF3-M3M®) . M3X05/ 44 @ 138 | 55 04 5.5 . . 1.4 1.5  |PCF3-M3M
PCF3-M5M @) M5X08| 45 | 154 8 ‘ 8 2.8 42 |PCF3-M5M
PCF4-M3M @ M3X0.5 | 154 35 3.6 |PCF4-M3M
PCF4-M5M &) : M5X0.8 176 109 8 98 78 2.6 4.3 |PCF4-M5M
PCF6-M5M@| 6 |M5X0.8/ 65 16.7 10 117 10 118 | 98 9.1 6.1 |PCF6-M5M
PCF1/8-M3M @) M3X0.5 | 15.4 35 3.7 |PCF1.8-M3M
—— ————— 45 8 10. . . -
PCF1/8-M5M @) 18 M5%0.8 | 176 _ ° | ¢ _ 98 | 78 26 | a4 PCF1_8-M5M
PCF5/32-M3M @) M3X0.5 15.4 35 3.6 |PCFs.32-M3M
St === 45 8 10.9 8 9.8 78 ik
PCF5/32-M5M (@) Aiae M5X0.8 176 2.6 4.3 |PCF5 32-MEM
PCF1/4-M5M®| 1/4 |M5X0.8 5.1 | 165 10 114 | 10 | 118 | 98 | 11.1 | 58 _|PCF1_4-M5M

EN—VILEDEESEE
¥1.ETADDICIF, AEEE . TSy LN T, BFaEbNEREDES. BIRULTREALTIETWL
WEE: SA4 M LU—=88 W, 8&EMEF . ZU—2—LaE=558  -C
WEIE . D4 U —aFEMLHER  J)—/IL—LTE=ECS  W-C
®2[ A, ZU—2IL—LBETROBETY.,

SHEITHEAR. SOER, TAHBZEEORBITRDTENTT., h—LR—JICTCAD F— S ZRHFLTHD T




